

Page 1 of 1

### Florida Department of Transportation



Letting:

**Vendor Ranking** 

Call Order: 014

Contract: E1U05-R0

AM

01201203

District: District 1 Counties: DIST/ST-WIDE, POLK Fee

December 03, 2020 11:00

Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS Project(s): 43272717298 (\*)

Contract Desc: Roadside Mowing, Chemical Mowing, and Litter Removal

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	JT RUBY CONTRACTING SERVICE INC	Responsive	Winning bid	\$448,478.81	100.00%
2	MARKS EXCAVATING, INC.	Responsive	Non-Winning Bid	\$450,298.52	100.41%
3	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$554,887.01	123.73%
4	JSM SERVICES, INC.	Responsive	Non-Winning Bid	\$603,313.49	134.52%
5	TURTLE INFRASTRUCTURE PARTNERS, LLC	Responsive	Non-Winning Bid	\$695,395.74	155.06%
6	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$825,600.80	184.09%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



## Florida Department of Transportation



#### **Tabulation of Bids**

Page 1 of 3

**Letting:** 01201203 December 03, 2020 **Call Order:** 014 **Contract:** E1U05-R0

District: District 1 Counties: DIST/ST-WIDE, POLK Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

Project(s): 43272717298 (\*)

Contract Descr: Roadside Mowing, Chemical Mowing, and Litter Removal

The work under this Contract consists of Roadside Mowing, Chemical Mowing, and Litter Removal

Line No / Item I			Quantity Units	(1) JT RUBY CONTRACTING SERVICE INC		(2) MARKS EXCAVATING, INC.		(3) SUPERIOR LANDSCAPING & LAWN SE	
	•	bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(LARGE MACH	IINE MOWING (AC	;				
0005 MOWIN MACHI		(REGULAR/LAR	10,821.555 GE AC	16.00000	173,144.88	16.50000	178,555.66	22.00000	238,074.21
0010 MOWIN	E104 4 2 NG (SLOPE)		880.000 AC	85.00000	74,800.00	45.00000	39,600.00	44.00000	38,720.00
0015 MOWIN	E104 4 4 NG (INTERME	EDIATE MACHINE	220.253 E) AC	80.00000	17,620.24	25.00000	5,506.33	44.00000	9,691.13
0020 LITTER	E110 30 R REMOVAL		16,931.434 AC	8.00000	135,451.47	9.50000	160,848.62	9.00000	152,382.91
0025	E580337 8		2,636.790	18.00000	47,462.22	24.95000	65,787.91	44.00000	116,018.76
HERBI	CIDE (MOWE	R APPLICATION	) AC						
		GE MACHINE Se IOWING (AC)	ection Totals:		\$448,478.81		\$450,298.52		\$554,887.01
		Contract Gra	and Totals:		\$448,478.81		\$450,298.52		554,887.01



# Florida Department of Transportation



## **Tabulation of Bids**

Page 2 of 3

Letting	<b>g</b> : 012	01203 D	ecember 03,	2020 <b>Cal</b>	l Order: 014		Contract:	E1U05-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) JSM SERVICES, INC.		(5) TURTLE INFRASTRUCTURE		(6) T & M LAWN-FENCE SERVICE INC	
	dicates item is bid a	s Lump Sum		Unit Price	Ext Amount	PARTNEI Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount
	SECTION: 0	001 (	LARGE MACH	IINE MOWING (AC	;				
0005 MOWIN MACHIN	(	EGULAR/LAR(	10,821.555 GE AC	17.00000	183,966.44	26.40000	285,689.05	35.00000	378,754.43
0010 MOWIN	E104 4 2 IG (SLOPE)		880.000 AC	125.00000	110,000.00	84.00000	73,920.00	200.00000	176,000.00
0015 MOWIN	E104 4 4 IG (INTERMEDIA	TE MACHINE	220.253 ) AC	75.00000	16,518.98	36.91000	8,129.54	30.00000	6,607.59
0020 LITTER	E110 30 REMOVAL		16,931.434 AC	12.00000	203,177.21	14.68000	248,553.45	10.00000	169,314.34
0025 HERBIC	E580337 8 CIDE (MOWER A	PPLICATION)	2,636.790 AC	34.00000	89,650.86	30.00000	79,103.70	36.00000	94,924.44
	0001 LARGE MACHINE Section Totals: MOWING (AC)				\$603,313.49		\$695,395.74		\$825,600.80
	C	Contract Gra	nd Totals:		\$603,313.49		\$695,395.74		825,600.80



## Florida Department of Transportation

12/03/2020

## **Tabulation of Bids**

Page 3 of 3

**Letting:** 01201203 December 03, 2020 **Call Order:** 014 **Contract:** E1U05-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.